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Sclect the correct answers and write them in
your answer-book :
1) When interest is allowed on the capital of
the partners, it is generally calculated on
1) Average capital
i)  Opening capital
ii) Closing capital
iv) None of these. !
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2 In the absence of any dgreemen,

‘!JS divided among partners Profj
1 in the ratio of their congy:
. Hribyg:
the capita] of the firm Htion lo

11) in the ratio of
_ to business

1) in the ratio of sales by each

! _ ! artne

V) in equal ratjo. Partner

3} Partm.-r.'-;hip Act was implemen ted in

lim(.‘ deDlCd b}p !hﬂ'l'n

) 1932 i) 1956
mj) 1947 v) 1952 1
4)  According to Garner pg Murre,,
deficiency of capital of any Insolveny

partner is divided
1) in the ratio of profit & Joss
1 1n capital ratio
m) i the ratio of pr:--d:'s;tributjon
capital
v} none of these. ]
5)  Discount on issuc of debentures s
shown in
1) Assct side of Balance sheet
1 Liability side of Balance sheet
mj - Debit side of Profit  and Loss

account
v} Credit side of Profit and Loss
account. 1

6)  The balance of share forfeited account is
transferred to

1) Share capital account

1} Reserve capital account

) Shareholder's account

IV} General Reserve account, !
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Premium on

transferred 1o

1) Profit & Loss Ajc

i) Reserve Capital Account

1) Contingent Reserve Alc

v} None of these, 1

Under which method of depreciation the

amount of assect js never red

zero ?

1) Straight line method

1} Annuity method

i} Sum of years digit method

iv) Diminishing Balance method 1

The credit balance in the income and

expenditure account indicates

i) excess of cash receipts over cash
Payments

1) excess of Income over expenditure

i)  excess of expenditure over income

v} excess of cash Payments over cash
receipts., 1

The liquidly level of any firm is properly
disclosed by

1) Current ratio

i)  Reccivable to turnover ratio
m)  Quick ratio

iIssu¢ of shares IS

v} Inventory to turnover ratio. ]

( sfq 7Y Todrg wyw )
( Very Short Answer Type Questions )
T 4 5 0 R/EEA £
What do you mean by partnership deed ?
M AT T
What is sacrifice ratio ?
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:::33 What is meant by variable capital

14.
14.

15.
15.
16.
16.

17.
17.
18.
18.
19.
19.

20.
20.

21.

21.

22.

account ? p)
3V 9 T g / a9 a4 w9 £ 2 2
What do you understand by calls 1;
arrear on shares ? 2
FUIGT | &1 3 & ? 2
What is meant by Debenture ? 2
SaTe fergeteor &1 ¥ R R 2

What are the objectives of Ratio

analysis ?

et o 1 2

is capital profit ?
qﬁlﬁi;:'( aiw}: ¥ AVER ? .
What is meant by preference share -
1] @mfa @ AR S

Asset.

Define Current ,
ﬁsﬁ%mﬁwwmi_imm
What do you mean by forfe

shares ?

N2V NN NOMNNNN

( ) tions )
0
( Short Answer ‘l‘yEﬁQl;;Fi U ;
fraey o] 814 € 2

What rules of partnfzrship q}pply in thg
absence of partnership deed ?

nA% WERR & IaUivert w4 ufe @
o & & A 2 5
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How is the amount payable to the

executlors of deceased partner
calculated ? 3

bs
23. dienfa s @ & 2 3w 3w g |
2+3

23. What is secunty premium 2 State s

uses, o 2+3
24. WU A ¥ F AHHI | 5
24. Explain debenture redemption fund 5
25. 3WM T KA § IR TART | 5
25. Differentiate between share and

debenture. ] 3
26. T FME W AW I WA ¥ 7 Iuge

&V R T | S
26. What do you mean by current ratio ?

Explain with suitable examples. 5

( fawge oita wve )
( Long Answer Type Questions )

27. WERRI & 31 fKwwr, 2018 F srfew fam

fF=tifere o

Tfe =y wafedt | ww

(¥0) | (%o)

27 fagz | 3,300 | %3 | 600
TR 6.000 | TR 10.800
it ’ | Teferan | 11400
Y 16.800 I | we ' 2,400
A 12,600 | vas | 19500
faa® 6,000 | 35400 A
T aa700 | 44,700
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v) WgA F FEEEFA o 27,000 fEa
yci il
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Partners' Balance Sheet

chcr_nbcr. 2018 wag as [ollows -

as on J3lst

Liabilities | Amoyunt Assety wl;n_unl:
- . Rs) —— e [Rs)
Bills payahle 3.300 . Cash 600
Creditors 6,000 Debiors 10800
Capital Stock 11 ang
Ashu 16,800 Furniture 2.400
Neera) 12,600 ! Bulilding 1% 500
Vwek 6,000 | 35400

All

- o ST T
Ashu, Neeraj and Vivek share Profit ang
Loss in cqual ratio. Op 31* December,
2018  they ad mitted  Suncel
partnership on the following conditions :
1) Suneel brings Rs. 9,000 for goodwil)

and Rs. 15,000 for capital.

1) Half of the amount of goodwill is
withdrawn by old partners.

1) Value of stock and furniture is
reduced by 10%

V)  Reserve is to be made 4 5% for
doubtful debts on debtors.
v) Building was revalued at Rs. 27,000.
Prepare Profit and Loss Adjustment
Account and Balance Sheet of the new
firm from the above information. 5+5
OR
What do you mean by dissolution of
Partnership firm ? Differentiate between
dissolution of  partnership and
dissolution of partnership firm. 3+7

111 - Turn over
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. Jaishree Ltd. issued 30000 cquity shares

of Rs. 100 each. Amount payable on
shares was as follows :

On application Rs. 2 per share, on
allotment Rs. 3 per share, on First call
Rs. 2 per share and on Second and Final
call Rs. 3 per share. Ashok who has
1000 shares paid hijs sccond and fina)
call in advance with the first call.

6% interest wag Payable on calls in

advance. All cq S were made and
amounts were duly received. Interest
was paid

neces Jto s}}areholders. Pass the
ournal entrijes j
company, €s 1n the books of

OR 10
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Describe various What d i :
ki O You mean by Ratio Analysig
shares. How nds  of ref Descri . .
redeemed ? Are  pref tnt:?- © :}:Z?-f-; an:f}g?; the different methods of ga: lg
1 ART, 2016 # g . 3+3 30.ﬁzﬁmm31nﬁ2013wm
%0 4,00,000 # o ’I.'”"-l FEE o3 _ Ffwa i
2018 &1 T TH e ;‘W‘ \ ) frarwr ot | e | e
R @ m oA A
|mmg?—1-‘_; ________l (o) | (o)
3,00,000 To uM=H W o e = ;::’;' AT . 2,500 | few @ R | 3.234
gﬁm oﬁq;;ﬁs.oo.oog 8 g | — . T | 10se
: gﬁfu y Izﬂnm T BUE G LI 734 | WAW Y& | 3aR
Q'IE) ] 201Bl?FF.F. = FTAT AT 333  fafaw amg ' 1,743
. " 3 L 1 Tﬁm e 3 262 | ECI4T 2,600
31 o &t a= wdt ) | . ‘ ’ .
Raay 10 %3 e 174 | foo@ ad &1 ¥ 4.000
3 . T A 0 I W
Wmﬁm‘mmi?ai w4 ° 4'RUO|{;ﬁmm}
farvetaor %t fafus fafirdt = T Fiom 3 4
On 1st October2016 Lata Transport E o 3,194
Company Purchased g truck for faed =1 1 618
Rs. 4,00,000. On 1st April, 2018 this %
truck was involved in an accident and wen e 2! .
was complptely destroyed. Rs. 3,00,000 fafay = 1,600
was received from the insurance ST I 760
company 1n full settlement. On the same
date another truck was purchased by AT ERERELE -
the company for Rs. 5,00,000. The 22,585 22,585
company writes off 20% depreciation per s A s
%nnum on Diminishing Balance Method. "

repare Trucks Account from 2016 to

)
2018. The accounts are closed on 3lst
December each year. 10

OR
Alllll
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A, 31 ==, 2018
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30. Trial Balance of Ro

-

b B
Club on 23

March, 2018 is as [01-:":35

st
Particulars \ Amount l'llrltcullu Amoun
Rs. Rs. :
Furrluluﬂr 2,500 | Sale of tickets 3234
Almirah . 1.250 | Ml:m'bcrshtp fees 10. 560
Pnnun!g & Entrance fees 448
Stationery { 734 | Sundry mcome ¢ 1,743
Offlice expenses .Ii 333 | Creditors ! nnn
Salary 2262 | Last year Balance ' 40(!}
Cash in hand | 174 . (Excess of income
1 y
|. over expenditure}
Cash at Bank | 4,800
Rent [ 3,194 |
Electric | E I'
charggs I.I 1 hH1B \ ;
Meetuing \ 1'1
Expenses T 2,190
i
Sundry " \ I"
Expenses 1,600 Il* 1
| - |
Audit fees "\ 760 | -
Debtors 1,170 r
All1l1]
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Adustiients
i Provide for depreciation w 10% on
furmiture and 20% on alnurah.
ul - Rs. 250 of membership fees was
outstanding on 31s1 March, 2018
Prepare Income and  Expenditure
Account and Balance Shect for the year
cnding on 31st March, 2018, 6+ 4
OR

What are meant by cum-interest and
ex-interest at the time of purchase and
sales of investments 2 Explain with

ustrations. 5+5

349 - 1,45,000
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